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Video - GLOBAL WARMING – WHAT YOU NEED TO KNOW WITH TOM BROKAW
1. Over the last 7 years the Patagonia Ice Fields, in the Andes mountains, have lost __________ percent of their mass.  This is a historically fast rate.

2. The glaciers at Glacier National Park in Montana may vanish in our lifetime.  There were 150 and there are  _____________ now.

3. Rapidly melting ice in the Antarctic is like “the canary ________________________________”, telling us there is danger ahead.

4. When Antarctic ice is formed, bubbles of gasses are trapped.  These bubbles contain clues to past ____________________________.

5. The world’s temperature has risen ________ degree Fahrenheit in the past 100 years.

6. The rate of temperature change over the past 10 years has _____________________________.

7. The natural cycle of Earth’s warming and cooling, creating the Ice Ages, is caused by _______________________________________  orbit of the Earth.
8. Australia has been experiencing record heat.  Of the 21 hottest years on record _________ have occurred since 1980.

9. When the gas bubbles trapped in old glacial ice are analyzed, scientists find that _____________________________ tracks with global temperature change.  As temperature increases there is more, and when the temperature decreases there is less.

10. Today there is more ______________________________ then has ever been present in the past.

11. _________________________ gasses are able to trap heat energy.  Without this, the Earth would naturally be ___________ degrees Fahrenheit cooler.
12. The trees of the Amazon are considered the “_________________ of the planet, because they absorb great quantities of carbon dioxide for the process of photosynthesis.
13. However, when trees and other living things die and decay, they ____________________ carbon dioxide to the atmosphere.

14. Fossil fuels produce carbon dioxide when they are burned because they are made of ___________________________________________, which has been under heat and pressure over an extended period of time.
15. In the mid 20th century, scientists discovered that global temperatures had natural variation (ups and downs) that was due to ________________________________.
16. The Keeling Curve shows _______________________________________ in overall carbon dioxide levels over the past 100 years.

17. The polar bear population has declined _________% over the last 20 years.

18. This decline in the polar bear population is due to the loss of ______________________________________.

19. Approximately ____________ % of the Earth is covered with ice, and 75% of the Earth’s freshwater is locked as frozen water in ___________________________ and _____________________________.

20. Melting of polar ice will cause _________________________________________________.

21. If the polar ice melts coastal cities such as __________________________________, _______________________________, _______________________________, and _____________________________ will be under water.

22. In the last 100 years there has been a rise of between 4” and 10” (depending upon the area) in sea level.  Half of the rise in sea level over the past century has been due to _____________________________________________________________.

23. Explain what #22 is.

24. As the Earth heats up the ocean temperature increases.  An increase in 1 degree Fahrenheit in ocean temperature results in climate changes such as ______________________________________, _________________________________________, _____________________________________.

25. Models help us predict what will happen as carbon dioxide levels increase.  However these models have difficulty predicting __________________________________________.  These can cause a greater chance of disaster.
26. For example,  ice ______________________ energy because it is white, but when it melts it exposes dark land or water which ______________________________ energy, resulting in _____________________________________________.

27. A 4˚F rise in temperature over the next century will likely tip the balance resulting in ___________________________________________, ___________________________________, _______________________________________________.

28. The answer is slowing down the change by reducing carbon dioxide emissions.  The largest source of carbon dioxide emissions is __________________, with 5% of the population and 25% of carbon dioxide emissions.  However, ____________________________ is now the second largest source, and increasing rapidly.

29. There is an international treaty, known as the ______________________________________, which 160 nations have agreed to.  However, the US withdrew in 2001, citing numerous short-sighted reasons.

30. The treaty requires nations to make major reductions in carbon dioxide emissions, and many are making great efforts.  However, the US has actually increased carbon dioxide emissions by ______% since the signing of the treaty.

31. Examples of some of the efforts by other nations are ___________________ sequestering  Norway, use of ___________________________ instead of ________________________ in Brazil, and efforts to reduce logging and farming in the Amazon.
32. Typical US families have a large carbon footprint (the amount of carbon dioxide emissions due to using electricity, burning gas, heating, etc.).  However there are many examples of what a typical family can do without dramatically effecting their lifestyle.  Name four examples below:


1)


2)
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